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1. The diagrams show different designs a child is making by stacking blocks.
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a. Given n = the design number, write an expression for the nth design. @—D o 7 n
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b. Sketch Design 5.
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c. If the child has only 60 blocks, what is the largest design she can complete? Show

your work and/or Q%P\Q,W\ \.)0(1( anNswer.
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. Analyze the function f(x) = (x - 8)(x + 10) .
o fels the graph of the function concave up or concave down? CONCAave u,
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d. What is the axis of symmetry?x: /\

e. What is the y-inter(c.e/pt?—go-—lﬂ)7 (0 - ?5@ 4 |()3 ‘

b. What are the roots (x-intercepts)?
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3. Analyze the function f(x) = -4(x - 9)2 + 12.
a. Is the graph of the function concave up or concave down?22/)ZAV

b. What is the vertex? CQI /23
c. What is the axis of symmetry? }(:a]

d. What is the y-intercept? (,0 l‘5|2> _L (_014 ) Z'H c
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4. Analyze the function f(x) = -x% + 14x - 20.
a. Is the graph of the function concave up or concave down?

b. What is the vertex? (,7 ) Zﬁ\

c. What is the axis of symmetry? X = 7
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d. What is the y-intercept? CD [~ 203

5. Analyze the graph. Describe whether each function could be used to model the
graph. Explain your reasoning.

a.f(x) = 5(x +6)2+2 Yi
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6. Simplify. Show your work. (¢ e er 4@‘[44734 \n S
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c. (7 +3i)(6 - 8i) d. (9i - 6)(8i + 4)
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